

# Self-similar solutions and asymptotic behaviour for a class of degenerate and singular diffusion equations

**Chunpeng Wang**

Department of Mathematics, Jilin University, Changchun, Jilin 130012, People's Republic of China (wangcp@jlu.edu.cn)

**Tong Yang**

Department of Mathematics, City University of Hong Kong, Hong Kong (matyang@cityu.edu.hk)

**Jingxue Yin**

Department of Mathematics, Jilin University, Changchun, Jilin 130012, People's Republic of China (yjx@jlu.edu.cn)

(MS received 27 May 2005; accepted 5 April 2006)

In this paper, we study the self-similar solutions and the time-asymptotic behaviour of solutions for a class of degenerate and singular diffusion equations in the form

$$u_t = (|(p(u))_x|^{\lambda-2}(p(u))_x)_x, \quad -\infty < x < +\infty, \quad t > 0,$$

where  $\lambda > 2$  is a constant. The existence, uniqueness and regularity for the self-similar solutions are obtained. In particular, the behaviour at two end points is discussed. Based on the monotonicity property of the self-similar solutions and the comparison principle, we also investigate the time convergence of the solution for the Cauchy problem to the corresponding self-similar solution when the initial data have some decay in space variable.

## 1. Introduction

Consider the diffusion equation of the form

$$u_t = (|(p(u))_x|^{\lambda-2}(p(u))_x)_x, \quad -\infty < x < +\infty, \quad t > 0, \quad (1.1)$$

where  $\lambda > 2$  and  $p(s) \in C([0, +\infty)) \cap C^1((0, +\infty))$ . Here we assume that the function  $p(s)$  has the property that  $\lim_{s \rightarrow +\infty} p(s) = +\infty$ ,  $p'(s) > 0$  for  $s > 0$  and  $p'(s)$  is a monotone function in  $(0, +\infty)$ . Hence, besides the degeneracy at the points where  $u_x = 0$  with  $p'(u) < +\infty$ , the equation is degenerate if  $p'(0) = 0$  and singular if  $p'(0) = +\infty$  at  $u = 0$ . This type of equation has a background in physics and engineering sciences (see [9, 16, 19, 20, 22] and the references therein). In recent decades, equations in the form (1.1) have been studied extensively because of the rich phenomena caused by the degeneracy and singularity (see, for example, the important case when  $\lambda = 2$  [1, 3–8, 15, 17, 21, 23, 25]). When  $\lambda \neq 2$  and  $p(s) =$

$s^m (m > 0)$ , (1.1) is called the non-Newtonian polytropic filtration equation; it has been thoroughly investigated in [11, 27] and also in [2, 10, 12–14, 18, 24, 26], in which the existence, uniqueness and regularity of solutions, together with the time-asymptotic behaviour of solutions to the Cauchy problem, are established.

It is also interesting to note that (1.1) can be deduced from the compressible Euler equations with damping, and the singularity and degeneracy in (1.1) then correspond to the definition of the pressure function and the order of the nonlinearity of the damping in the system. More precisely, consider the following system of Euler equations for isentropic flow with a damping term:

$$\rho_t + (\rho u)_x = 0, \quad (1.2)$$

$$(\rho u)_t + (\rho u^2 + P(\rho))_x = -\kappa(\rho u)^\alpha, \quad (1.3)$$

where  $\rho$ ,  $u$  and  $P(\rho)$  denote density, velocity and pressure, respectively, while  $\kappa > 0$  is the damping coefficient and  $\alpha > 0$  is the order of the nonlinearity in the damping term. It is known in fluid dynamics that when time  $t \rightarrow \infty$ , the convection term in equation (1.3), i.e.  $(\rho u)_t + (\rho u^2)_x$  decays faster than the other terms. Thus, to consider the leading terms in the system, it can be reduced to the following scalar equation:

$$\rho_t = \frac{1}{\kappa} ((P(\rho)_x)^{1/\alpha})_x. \quad (1.4)$$

Now it is clear that this is exactly (1.1) when  $\lambda = (\alpha + 1)/\alpha$ . Hence, the linear damping corresponds to the particular case  $\lambda = 2$ , while superlinear damping corresponds to the case when  $0 < \lambda < 2$  and sublinear damping to the case when  $\lambda > 2$ . If  $0 < \alpha < 1$  and the pressure function satisfies  $P'(0) = 0$  or  $P'(0) = +\infty$ , then it is clear that (1.4) is degenerate or singular, respectively, at  $\rho = 0$ , i.e. in vacuum states. For the case  $\alpha = 1$ , it is well known that the parabolic equation (1.4) has a class of self-similar solutions, called Barenblatt solutions, which capture the large-time behaviour of solutions to the Cauchy problem of the Euler equation with linear damping connecting to vacuum, i.e.  $P = 0$ . Therefore, we believe that our study of the more general case here will be useful for future study of the above system in a more general setting.

In the first part of the paper, we will consider the self-similar solutions to (1.1) of the form

$$u(x, t) = w(\xi), \quad \xi = x(t+1)^{-1/\lambda}, \quad -\infty < x < +\infty, \quad t > 0.$$

Direct calculation shows that  $w = w(\xi)$  satisfies

$$-\frac{1}{\lambda} \xi w' = (|p(w)'|^{\lambda-2} (p(w))')', \quad -\infty < \xi < +\infty. \quad (1.5)$$

For the ordinary differential equation (1.5), we study the infinite two-point boundary-value problem with

$$w(-\infty) = w_-, \quad w(+\infty) = w_+, \quad (1.6)$$

where  $w_{\pm} \geq 0$ . Since (1.5) is degenerate at the points where  $(p(w))' = 0$  and may be degenerate or singular at the points where  $w = 0$ , the classical solution may not exist. For this reason, the solutions to (1.5) and the infinite two-point boundary-value problem (1.5), (1.6) are defined as follows.

DEFINITION 1.1. A non-negative function  $w(\xi) \in C(-\infty, +\infty)$  is called a solution of (1.5), if  $p(w) \in C^1(-\infty, +\infty)$ ,  $w$  and  $|(p(w))'|^{\lambda-2}(p(w))'$  are absolutely continuous in  $(-\infty, +\infty)$  so that (1.5) holds almost everywhere. Moreover, if

$$\lim_{\xi \rightarrow -\infty} w(\xi) = w_-, \quad \lim_{\xi \rightarrow +\infty} w(\xi) = w_+,$$

$w(\xi)$  is called a solution of the infinite two-point boundary-value problem (1.5), (1.6).

Based on the self-similar solutions and the comparison principle, we will investigate further the asymptotic behaviour of solutions to the Cauchy problem (1.1) with the initial data

$$u(x, t) = u_0(x), \quad x \in (-\infty, +\infty), \tag{1.7}$$

where  $u_0(x)$  is a monotone, non-negative and bounded function. The solution to the problem (1.1), (1.7) is defined as follows.

DEFINITION 1.2. A function  $u(x, t)$  is called a weak solution of the Cauchy problem (1.1), (1.7), if

$$\begin{aligned} p(u) &\in C_{loc}(0, +\infty; L^2_{loc}(-\infty, +\infty)) \cap L^\lambda_{loc}(0, +\infty; W^{1,\lambda}_{loc}(-\infty, +\infty)), \\ \varphi &\in C^\infty_0((-\infty, +\infty) \times (0, +\infty)), \\ \int_0^{+\infty} \int_{-\infty}^{+\infty} u \varphi_t \, dx \, dt &= \int_0^{+\infty} \int_{-\infty}^{+\infty} |(p(u))_x|^{\lambda-2} (p(u))_x \varphi_x \, dx \, dt \end{aligned}$$

and

$$\lim_{t \rightarrow 0^+} \int_{-\infty}^{+\infty} p(u(x, t)) h(x) \, dx = \int_{-\infty}^{+\infty} p(u_0(x)) h(x) \, dx, \quad h \in C^\infty_0(-\infty, +\infty).$$

It will be shown that when the initial data are monotone and decay in the space variable, then the solution to the Cauchy problem decays in the time variable with a rate corresponding to the self-similar solution with two end states at  $\pm\infty$ .

The paper is organized as follows. In §2, we state the main results on self-similar solutions and derive some basic formulae, while the proof will be given in §3. Based on the self-similar solutions, the asymptotic behaviour of solutions to the Cauchy problem (1.1), (1.7) will be investigated in the final section.

## 2. Self-similar solutions

We first state the main results on the self-similar solutions. For the proof in §3, we will also derive some basic formulae for the self-similar solutions.

Note that if  $w(\xi)$  is a solution of the problem (1.5), (1.6), then  $\tilde{w}(\xi) = w(-\xi)$  is also a solution of (1.5) with

$$w(-\infty) = w_+, \quad w(+\infty) = w_-.$$

Thus, in the following discussion, we will assume that  $0 \leq w_- \leq w_+$  without loss of generality.

The main results on the self-similar solutions, namely the solutions to the infinite two-point boundary-value problem (1.5), (1.6), can be stated as follows.

**THEOREM 2.1.** *There exists a unique solution of the problem (1.5), (1.6).*

**THEOREM 2.2.** *Let  $w(\xi)$  be the solution of the problem (1.5), (1.6) with  $0 < w_- < w_+$ . There then exist  $-\infty < \xi_* < 0 < \xi^* < +\infty$ , such that  $w(\xi)$  is strictly increasing in  $(\xi_*, \xi^*)$ , and*

$$w(\xi) = \begin{cases} w_-, & \xi \in (-\infty, \xi_*], \\ w_+, & \xi \in [\xi^*, +\infty). \end{cases}$$

**THEOREM 2.3.** *Let  $w(\xi)$  be the solution of the problem (1.5), (1.6) with  $w_- = 0$  and  $w_+ > 0$ . There then exists  $0 < \xi^* < +\infty$  such that*

$$w(\xi) \begin{cases} < w_+, & \xi \in (-\infty, \xi^*), \\ = w_+, & \xi \in [\xi^*, +\infty). \end{cases}$$

In addition, set

$$\xi_* = \inf\{\xi \in (-\infty, +\infty) : w(\xi) > 0\}.$$

For  $\xi_*$ , we reach the following two conclusions.

(i) If  $\int_0^1 p'(s)s^{-1/(\lambda-1)} ds < +\infty$ , then  $-\infty < \xi_* < 0$  and the solution satisfies

$$\frac{d}{d\xi} \left( \int_0^{w(\xi)} p'(s)s^{-1/(\lambda-1)} ds \right) \Big|_{\xi=(\xi_*)^+} = \left( \frac{-\xi_*}{\lambda} \right)^{1/(\lambda-1)} > 0.$$

Moreover,  $w(\xi)$  is strictly increasing in  $(\xi_*, \xi^*)$ , while  $w(\xi) \equiv 0$  on  $(-\infty, \xi_*]$ .

(ii) If  $\int_0^1 p'(s)s^{-1/(\lambda-1)} ds = +\infty$ , then  $\xi_* = -\infty$  and the solution satisfies

$$\int_{-\infty}^0 w(s) ds < +\infty, \quad \lim_{\xi \rightarrow -\infty} |\xi|w(\xi) = 0.$$

And  $w(\xi)$  is strictly increasing in  $(-\infty, \xi^*)$ .

**REMARK 2.4.** When  $p(s) = s^m$ ,  $m > 0$ , the corresponding conclusions on the behaviour of solutions can be stated as follows, with a clear relation between the parameter  $m$  and  $\lambda$ .

(i) If  $m > 1/(\lambda - 1)$ , then  $-\infty < \xi_* < 0$  and

$$\frac{d}{d\xi} (w^{m-1/(\lambda-1)}(\xi)) \Big|_{\xi=(\xi_*)^+} = \frac{1}{m} \left( m - \frac{1}{\lambda - 1} \right) \left( \frac{-\xi_*}{\lambda} \right)^{1/(\lambda-1)} > 0.$$

(ii) If  $0 < m \leq 1/(\lambda - 1)$ , then  $\xi_* = -\infty$ .

**REMARK 2.5.** Consider the Euler equations for a polytropic gas. When  $P(\rho) = \sigma^2 \rho^\gamma$  with  $\gamma > 0$  the adiabatic constant and  $\sigma$  a constant, the explanation of the vacuum behaviour from theorem 2.3 can be stated as follows. When  $\gamma > \alpha$ , the gas can connect to vacuum in finite distance from the origin at any time, with

the physical vacuum boundary condition being  $(\rho^{\gamma-\alpha})_x \neq 0$  and bounded at the vacuum interface. This is consistent with the work done on the Euler equations with damping when  $\alpha \geq 1$ . On the other hand, when  $0 < \gamma \leq \alpha$ , the gas canonically does not connect to vacuum in finite distance from the origin for any time, but rather does so at infinity.

To study the large-time behaviour of the solutions to the Cauchy problem (1.1), (1.7), we need the following comparison result for solutions with small perturbation at two end points.

**THEOREM 2.6.** *Let  $w_1$  and  $w_2$  be the solutions of (1.5) with the boundary value*

$$w_1(-\infty) = w_-, \quad w_1(+\infty) = w_+$$

and

$$w_2(-\infty) = w_- + \delta, \quad w_2(+\infty) = w_+ + \delta,$$

respectively, where  $0 \leq w_- < w_+$ ,  $\delta > 0$  and  $w_- + \delta < w_+$ .

(i) *If  $p'(s)$  is an increasing function, then*

$$0 \leq w_2(\xi) - w_1(\xi) \leq \left(1 + \frac{p'(w_+ + \delta)}{p'(w_1(0))}\right) \delta, \quad \xi \geq 0.$$

(ii) *If  $p'(s)$  is a decreasing function, then*

$$0 \leq w_2(\xi) - w_1(\xi) \leq \left(1 + \frac{p'(w_-)}{p'(w_2(0))}\right) \delta, \quad \xi \leq 0.$$

Note that in the above theorem the estimation is on the right state (i.e.  $\xi > 0$ ) in the first case and on the left state (i.e.  $\xi < 0$ ) in the second case.

In the rest of this section, we will derive some basic formulae with basic properties of the solutions to the problem (1.5), (1.6).

Let  $v = p(w)$ . Then (1.5) is transformed into

$$(|v'|^{\lambda-2}v')' = -\frac{1}{\lambda}\xi(q(v))', \quad -\infty < \xi < +\infty \tag{2.1}$$

or

$$(|v'|^{\lambda-3}v')' = -\frac{\lambda-2}{\lambda(\lambda-1)}\xi q'(v), \quad -\infty < \xi < +\infty, \tag{2.2}$$

where  $q(s) = p^{-1}(s)$  is the inverse function of  $p$ , and the boundary data (1.6) become

$$v(-\infty) = v_-, \quad v(+\infty) = v_+, \tag{2.3}$$

where  $v_- = p(w_-)$  and  $v_+ = p(w_+)$ . From the assumption on the function  $p(s)$ , we see that  $q(s) \in C(R(p)) \cap C^1(R_+(p))$ ,  $\lim_{s \rightarrow +\infty} q(s) = +\infty$ ,  $q'(s) > 0$  for  $s \in R_+(p)$  and  $q'(s) = 1/p'(q(s))$  is a monotone function in  $R_+(p)$ , where

$$R(p) = \{p(s) : s \in [0, +\infty)\}, \quad R_+(p) = \{p(s) : s \in (0, +\infty)\}.$$

Following definition 1.1, we obtain the definition of solutions to (2.1) and the corresponding problem (2.1), (2.3).

DEFINITION 2.7. A function  $v(\xi) \in C(I)$  is called a solution of (2.1) in an interval  $I$  if  $v(I) \subset R(p)$ ,  $v \in C^1(I)$ ,  $q(v)$  and  $|v'|^{\lambda-2}v'$  are absolutely continuous in  $I$  so that (2.1) holds almost everywhere in  $I$ . Furthermore, if  $I = (-\infty, +\infty)$  and

$$\lim_{\xi \rightarrow -\infty} v(\xi) = v_-, \quad \lim_{\xi \rightarrow +\infty} v(\xi) = v_+,$$

$v(\xi)$  is called a solution of the infinite two-point boundary-value problem (2.1), (2.3).

According to the uniqueness theorem on ordinary differential equations, it is straightforward to prove the following proposition.

PROPOSITION 2.8. Assume that  $I$  is an interval and that  $v(\xi)$ ,  $\xi \in I$ , is a solution of (2.1).

(i) If there exists  $\xi_1 \in I \cap (-\infty, 0]$  such that  $v'(\xi_1) = 0$ , then

$$v'(\xi) = 0, \quad \xi \in I \cap (-\infty, \xi_1].$$

(ii) If there exists  $\xi_2 \in I \cap [0, +\infty)$  such that  $v'(\xi_2) = 0$ , then

$$v'(\xi) = 0, \quad \xi \in I \cap [\xi_2, +\infty).$$

As an immediate consequence of proposition 2.8, the problem (2.1), (2.3) has a unique solution when  $v_- = v_+$ . Therefore, we need to study only the non-trivial solution, namely the case  $v_- < v_+$ .

LEMMA 2.9. Assume that  $v(\xi)$  is a local solution of (2.1) with  $v(0) \in R_+(p)$  and  $v'(0) > 0$ . There then exists  $0 < \xi^* < +\infty$ , such that  $v'(\xi^*) = 0$  and

$$v'(\xi) > 0, \quad 0 < \xi < \xi^*.$$

*Proof.* We prove this by contradiction. Assume the conclusion of the lemma is not true. By (2.1) and the extension theorem,  $v(\xi)$  can be extended to  $+\infty$  by

$$v'(\xi) > 0, \quad v''(\xi) < 0, \quad \xi > 0.$$

Thus,

$$(v'^{\lambda-1}(\xi))' = -\frac{1}{\lambda} \xi (q(v(\xi)))', \quad \xi > 0. \tag{2.4}$$

For  $\xi > 1$ , integrating the above equation from 1 to  $\xi$  yields

$$-v'^{\lambda-1}(1) < v'^{\lambda-1}(\xi) - v'^{\lambda-1}(1) = -\frac{1}{\lambda} \int_1^\xi s(q(v(s)))' ds \leq -\frac{1}{\lambda} (q(v(\xi)) - q(v(1))).$$

Since  $v'(\xi) > 0$  for any  $\xi > 0$  and  $\lim_{s \rightarrow +\infty} q(s) = +\infty$ ,  $\lim_{\xi \rightarrow +\infty} v(\xi)$  exists and is bounded. Hence,

$$a = v(0) < v(\xi) < \lim_{\xi \rightarrow +\infty} v(\xi) = b < +\infty, \quad \xi > 1.$$

By the monotonicity of  $q'(s)$ ,

$$q'(v(\xi)) \geq \min\{q'(a), q'(b)\} = \delta > 0, \quad \xi > 1.$$

Then (2.4) implies that

$$(v^{\lambda-2}(\xi))' = -\frac{\lambda-2}{\lambda(\lambda-1)}\xi q'(v(\xi)) \leq -\frac{\delta(\lambda-2)}{\lambda(\lambda-1)}\xi, \quad \xi > 1,$$

which contradicts the notion that  $v'(\xi) > 0$  for any  $\xi > 0$ , and this completes the proof.  $\square$

LEMMA 2.10. *Let  $v_1(\xi), v_2(\xi)$  be two strictly increasing solutions of (2.1) in an interval  $I$  and let  $v_1(I), v_2(I) \subset R_+(p)$ . Then we have the following two cases.*

(i) *If  $q'(s)$  is monotone decreasing and there exists  $\xi_0 \in I$  such that*

$$\begin{aligned} v_1(\xi_0) &\geq v_2(\xi_0), \\ v_1^{\lambda-1}(\xi_0) - v_2^{\lambda-1}(\xi_0) &> \max \left\{ 0, -\frac{1}{\lambda}\xi_0(q(v_1(\xi_0)) - q(v_2(\xi_0))) \right\}, \end{aligned}$$

then

$$v_1'(\xi) > v_2'(\xi), \quad \xi \in [\xi_0, +\infty) \cap I.$$

*In particular, if there exist  $\xi_{01}, \xi_{02} \in (-\infty, 0] \cap I$  with  $\xi_{01} < \xi_{02}$  such that*

$$v_1(\xi_{01}) = v_2(\xi_{02}), \quad v_1'(\xi_{01}) = v_2'(\xi_{02}), \tag{2.5}$$

then

$$v_1'(\xi) > v_2'(\xi), \quad \xi \in [\xi_{02}, +\infty) \cap I. \tag{2.6}$$

(ii) *If  $q'(s)$  is monotone increasing and there exists  $\xi_0 \in I$  such that*

$$v_1(\xi_0) \geq v_2(\xi_0), \quad v_1'(\xi_0) > v_2'(\xi_0),$$

then

$$v_1(\xi) > v_2(\xi), \quad \xi \in [\xi_0, +\infty) \cap I.$$

*Proof.* We prove these two cases by contradiction, as follows.

(i) Assume the conclusion is not true. Let

$$\xi_1 = \inf \{ \xi \in [\xi_0, +\infty) \cap I : v_1'(\xi) \leq v_2'(\xi) \}.$$

Then  $\xi_0 < \xi_1, v_1'(\xi_1) = v_2'(\xi_1)$  and  $v_1'(\xi) > v_2'(\xi)$  for any  $\xi_0 < \xi < \xi_1$ . We have the following two subcases.

(a) When  $\xi_1 \leq 0$ , integrating (2.1) from  $\xi_0$  to  $\xi_1$  yields

$$v^{\lambda-1} \Big|_{\xi_0}^{\xi_1} = -\frac{1}{\lambda} \int_{\xi_0}^{\xi_1} \xi(q(v))' d\xi = \frac{1}{\lambda} \int_{\xi_0}^{\xi_1} q(v) d\xi - \frac{1}{\lambda} \xi q(v) \Big|_{\xi_0}^{\xi_1}.$$

Therefore,

$$\begin{aligned} v_2^{\lambda-1}(\xi_0) - v_1^{\lambda-1}(\xi_0) &= \frac{1}{\lambda} \int_{\xi_0}^{\xi_1} (q(v_1) - q(v_2)) d\xi \\ &\quad - \frac{1}{\lambda} \xi_1 (q(v_1(\xi_1)) - q(v_2(\xi_1))) + \frac{1}{\lambda} \xi_0 (q(v_1(\xi_0)) - q(v_2(\xi_0))). \end{aligned}$$

Because  $\xi_1 \leq 0$ ,  $q(v_1(\xi_1)) - q(v_2(\xi_1)) > 0$  and  $\int_{\xi_0}^{\xi_1} (q(v_1) - q(v_2)) \, d\xi > 0$ , we get

$$v_2^{\lambda-1}(\xi_0) - v_1^{\lambda-1}(\xi_0) > \frac{1}{\lambda} \xi_0 (q(v_1(\xi_0)) - q(v_2(\xi_0))),$$

which contradicts the assumption.

(b) When  $\xi_1 > 0$ , since  $v_1(\xi_1) > v_2(\xi_1)$  and  $q'(s)$  is monotone decreasing,

$$q'(v_1(\xi_1)) < q'(v_2(\xi_1)).$$

From (2.2) and  $\xi_1 > 0$ , we get

$$(v_1^{\lambda-1})'|_{\xi_1} > (v_2^{\lambda-1})'|_{\xi_1},$$

which contradicts the notion that  $v_1'(\xi_1) = v_2'(\xi_1)$  and  $v_1'(\xi) > v_2'(\xi)$  for any  $\xi_0 < \xi < \xi_1$ .

Now assume that (2.5) holds. Integrating this equation with respect to  $v_1$  from  $\xi_{01}$  to  $\xi_{02}$  and using (2.5) give

$$\begin{aligned} v_1^{\lambda-1}(\xi_{02}) - v_2^{\lambda-1}(\xi_{02}) &= v_1^{\lambda-1}|_{\xi_{01}}^{\xi_{02}} = -\frac{1}{\lambda} \int_{\xi_{01}}^{\xi_{02}} \xi (q(v_1))' \, d\xi \\ &= \frac{1}{\lambda} \int_{\xi_{01}}^{\xi_{02}} q(v_1) \, d\xi - \frac{1}{\lambda} \xi q(v_1) \Big|_{\xi_{01}}^{\xi_{02}} \\ &> \frac{1}{\lambda} (\xi_{02} - \xi_{01}) q(v_1(\xi_{01})) - \frac{1}{\lambda} \xi_{02} q(v_1(\xi_{02})) + \frac{1}{\lambda} \xi_{01} q(v_1(\xi_{01})) \\ &= -\frac{1}{\lambda} \xi_{02} (q(v_1(\xi_{02})) - q(v_2(\xi_{02}))) > 0. \end{aligned}$$

Hence, (2.6) follows according to conclusion (i).

(ii) The proof is also divided into two subcases.

(a) When  $\xi_0 \geq 0$ , if the conclusion of the lemma is not true, then we can let

$$\xi_2 = \inf\{\xi \in (\xi_0, +\infty) \cap I : v_1(\xi) \leq v_2(\xi)\}.$$

Thus,  $0 \leq \xi_0 < \xi_2$ ,  $v_1(\xi_2) = v_2(\xi_2)$  and  $v_1(\xi) > v_2(\xi)$  for any  $\xi_0 < \xi < \xi_2$ . Integrating (2.1) from  $\xi_0$  to  $\xi_2$  yields

$$v^{\lambda-1}|_{\xi_0}^{\xi_2} = -\frac{1}{\lambda} \int_{\xi_0}^{\xi_2} \xi (q(v))' \, d\xi = \frac{1}{\lambda} \int_{\xi_0}^{\xi_2} q(v) \, d\xi - \frac{1}{\lambda} \xi q(v) \Big|_{\xi_0}^{\xi_2}.$$

Hence,

$$\begin{aligned} (v_1^{\lambda-1}(\xi_2) - v_2^{\lambda-1}(\xi_2)) + (v_2^{\lambda-1}(\xi_0) - v_1^{\lambda-1}(\xi_0)) &= \frac{1}{\lambda} \int_{\xi_0}^{\xi_2} (q(v_1) - q(v_2)) \, d\xi + \frac{1}{\lambda} \xi_0 (q(v_1(\xi_0)) - q(v_2(\xi_0))). \end{aligned}$$



By  $\int_{\xi_0}^{\xi_2} (q(v_1) - q(v_2)) \, d\xi > 0$ ,  $\xi_0 \geq 0$ ,  $v_1(\xi_0) \geq v_2(\xi_0)$  and  $v'_1(\xi_0) > v'_2(\xi_0)$ , we get

$$v_1^{\lambda-1}(\xi_2) - v_2^{\lambda-1}(\xi_2) > 0,$$

which contradicts the notion that  $v_1(\xi_2) = v_2(\xi_2)$  and  $v_1(\xi) > v_2(\xi)$  for any  $\xi_0 < \xi < \xi_2$ .

(b) When  $\xi_0 < 0$ , we will show that

$$v'_1(\xi) > v'_2(\xi), \quad \xi \in [\xi_0, 0) \cap I. \tag{2.7}$$

If this condition does not apply, let

$$\xi_3 = \inf\{x \in [\xi_0, 0] \cap I : v'_1(x) \leq v'_2(x)\}.$$

Then  $\xi_0 < \xi_3 < 0$ ,  $v'_1(\xi_3) = v'_2(\xi_3)$  and  $v'_1(\xi) > v'_2(\xi)$  for any  $\xi_0 < \xi < \xi_3$ . Since  $v_1(\xi_0) \geq v_2(\xi_0)$  and  $q'(s)$  is monotone increasing,  $q'(v_1(\xi_3)) > q'(v_2(\xi_3))$ . By (2.2) and  $\xi_3 < 0$ , we get

$$(v_1^{\lambda-1})'|_{\xi_3} > (v_2^{\lambda-1})'|_{\xi_3},$$

which contradicts the notion that  $v'_1(\xi_3) = v'_2(\xi_3)$  and  $v'_1(\xi) > v'_2(\xi)$  for any  $\xi_0 < \xi < \xi_3$ . Therefore, (2.7) holds and this completes the proof of the lemma.  $\square$

LEMMA 2.11. Assume  $v_- < v_+$  and  $v$  is a solution of the problem (2.1), (2.3). Set

$$\xi_* = \inf\{\xi \in (-\infty, +\infty) : v(\xi) > v_-\}.$$

Then  $v$  is monotone increasing in  $(-\infty, +\infty)$  and  $-\infty \leq \xi_* < 0$ . Moreover, we have the following two conclusions on  $\xi_*$ .

(i) If  $\xi_* > -\infty$ , then

$$\int_{v_-}^{v_-+1} (q(s) - q(v_-))^{-1/(\lambda-1)} \, ds < +\infty.$$

Furthermore, if in addition,  $v_- = p(0)$ , then

$$\frac{d}{d\xi} \left( \int_{v_-}^{v(\xi)} q^{-1/(\lambda-1)}(s) \, ds \right) \Big|_{\xi=(\xi_*)^+} = \left( \frac{-\xi_*}{\lambda} \right)^{1/(\lambda-1)} > 0. \tag{2.8}$$

(ii) If  $\xi_* = -\infty$ , then

$$\int_{v_-}^{v_-+1} (q(s) - q(v_-))^{-1/(\lambda-1)} \, ds = +\infty.$$

*Proof.* From (2.2) and proposition 2.8,  $v$  is monotone increasing and  $v'(\xi) \leq v'(0)$  for all  $\xi \in (-\infty, +\infty)$ . Hence,  $\xi_* < 0$ . The two cases on  $\xi_*$  can be discussed as follows.

CASE 1 ( $\xi_* > -\infty$ ). For any  $\xi_* < \xi < 0$ , integrating (2.1) from  $\xi_*$  to  $\xi$  yields

$$v'^{\lambda-1} \Big|_{\xi_*}^{\xi} = -\frac{1}{\lambda} \int_{\xi_*}^{\xi} s(q(v(s)))' \, ds.$$

Then,

$$\begin{aligned}
 v'^{\lambda-1}(\xi) &= -\frac{1}{\lambda} \int_{\xi_*}^{\xi} s(q(v(s)))' ds \\
 &\leq \frac{|\xi_*|}{\lambda} \int_{\xi_*}^{\xi} |(q(v(s)))'| ds = \frac{|\xi_*|}{\lambda} \int_{\xi_*}^{\xi} (q(v(s)))' ds = \frac{|\xi_*|}{\lambda} (q(v(\xi)) - q(v_-)).
 \end{aligned}$$

Thus,

$$(q(v(\xi)) - q(v_-))^{-1/(\lambda-1)} v'(\xi) \leq \left(\frac{|\xi_*|}{\lambda}\right)^{1/(\lambda-1)}, \quad \xi \in (\xi_*, 0).$$

Integrating the above inequality from  $\xi_*$  to 0, we get

$$\begin{aligned}
 \int_{v_-}^{v(0)} (q(s) - q(v_-))^{-1/(\lambda-1)} ds &= \int_{\xi_*}^0 (q(v(\xi)) - q(v_-))^{-1/(\lambda-1)} v'(\xi) d\xi \\
 &\leq \left(\frac{|\xi_*|}{\lambda}\right)^{1/(\lambda-1)} |\xi_*|,
 \end{aligned}$$

which implies that

$$\int_{v_-}^{v_-+1} (q(s) - q(v_-))^{-1/(\lambda-1)} ds < +\infty.$$

For (2.8), we integrate (2.1) from  $\xi_*$  to  $\xi > \xi_*$  to obtain

$$v'^{\lambda-1} \Big|_{\xi_*}^{\xi} = -\frac{1}{\lambda} \int_{\xi_*}^{\xi} s(q(v(s)))' ds = \frac{1}{\lambda} \int_{\xi_*}^{\xi} q(v(s)) ds - \frac{1}{\lambda} s q(v(s)) \Big|_{\xi_*}^{\xi}.$$

Owing to  $v'(\xi_*) = 0$  and  $q(v(\xi_*)) = q(v_-) = 0$ ,

$$v'^{\lambda-1}(\xi) = \frac{1}{\lambda} \int_{\xi_*}^{\xi} q(v(s)) ds - \frac{1}{\lambda} \xi q(v(\xi)), \quad \xi > \xi_*.$$

Hence,

$$\frac{v'(\xi)}{q^{1/(\lambda-1)}(v(\xi))} = \left(\frac{1}{\lambda} \int_{\xi_*}^{\xi} \frac{q(v(s))}{q(v(\xi))} ds - \frac{1}{\lambda} \xi\right)^{1/(\lambda-1)}, \quad \xi > \xi_*.$$

By letting  $\xi \rightarrow (\xi_*)^+$  and noticing that  $q(v(s)) < q(v(\xi))$  for all  $\xi_* < s < \xi$ , we achieve (2.8).

CASE 2 ( $\xi_* = -\infty$ ). For any  $\xi_1 < \xi < 0$ , integrating (2.1) from  $\xi_1$  to  $\xi$  gives

$$v'^{\lambda-1} \Big|_{\xi_1}^{\xi} = -\frac{1}{\lambda} \int_{\xi_1}^{\xi} s(q(v(s)))' ds.$$

By letting  $\xi_1 \rightarrow -\infty$ , we get

$$\begin{aligned}
 v'^{\lambda-1}(\xi) &= -\frac{1}{\lambda} \int_{-\infty}^{\xi} s(q(v(s)))' ds = -\frac{1}{\lambda} \int_{-\infty}^{\xi} s|(q(v(s)))'| ds \\
 &\geq \frac{|\xi|}{\lambda} \int_{-\infty}^{\xi} (q(v(s)))' ds = \frac{|\xi|}{\lambda} (q(v(\xi)) - q(v_-)).
 \end{aligned}$$

Hence,

$$(q(v(\xi)) - q(v_-))^{-1/(\lambda-1)}v'(\xi) \geq \left(\frac{|\xi|}{\lambda}\right)^{1/(\lambda-1)}, \quad \xi < 0.$$

Integrating the above inequality from  $-\infty$  to 0 yields

$$\begin{aligned} \int_{v_-}^{v(0)} (q(s) - q(v_-))^{-1/(\lambda-1)} ds &= \int_{-\infty}^0 (q(v(\xi)) - q(v_-))^{-1/(\lambda-1)}v'(\xi) d\xi \\ &\geq \int_{-\infty}^0 \left(\frac{|\xi|}{\lambda}\right)^{1/(\lambda-1)} d\xi \\ &= +\infty. \end{aligned}$$

Therefore,

$$\int_{v_-}^{v_-+1} (q(s) - q(v_-))^{-1/(\lambda-1)} ds = +\infty.$$

The proof of the lemma is complete. □

**COROLLARY 2.12.** *Under the assumption of lemma 2.11, if  $v_- > 0$  additionally, then  $-\infty < \xi_* < 0$ .*

*Proof.* From the monotonicity property of  $q'(s)$  and  $v_- > 0$ , we have

$$(q(s) - q(v_-)) \geq \delta(s - v_-), \quad v_- < s < v_- + 1,$$

where

$$\delta = \min\{q'(v_-), q'(v_- + 1)\} > 0.$$

Thus,

$$(q(s) - q(v_-))^{-1/(\lambda-1)} \leq \delta^{-1/(\lambda-1)}(s - v_-)^{-1/(\lambda-1)}, \quad v_- < s < v_- + 1.$$

As  $\lambda > 2$ ,

$$\int_{v_-}^{v_-+1} (q(s) - q(v_-))^{-1/(\lambda-1)} ds < +\infty.$$

By lemma 2.11,  $-\infty < \xi_* < 0$ , which completes the proof. □

### 3. Proofs of theorems on self-similar solutions

This section is devoted to the proofs of theorems 2.1–2.3 and 2.6, which are based on the following lemmas and propositions. We first consider the case without degeneracy, namely  $v_{\pm} \in R_+(p)$  and  $v_- < v_+$ . Noting that  $\lambda > 2$  in (2.2), by the extension theorem and uniqueness theorem for the initial-value problem in ordinary differential equations, lemma 2.9 implies the following lemma.

**LEMMA 3.1.** *Assume that  $\xi_0 < 0$  and  $v_- \in R_+(p)$ . Then (2.1) with the initial conditions*

$$v(\xi_0) = v_-, \quad v'(\xi_0) = 0 \tag{3.1}$$

*admits a unique solution in  $(0, +\infty)$ . Moreover, there exists  $0 < \xi^* < +\infty$ , such that  $v'(\xi) > 0$  in  $(\xi_0, \xi^*)$  and  $v'(\xi) = 0$  on  $[\xi^*, +\infty)$ .*

PROPOSITION 3.2. Assume that  $v_{\pm} \in R_+(p)$  and  $v_- < v_+$ . There then exists a unique solution of the problem (2.1), (2.3).

*Proof.* For  $\xi_0 < 0$ , we denote  $v(\xi; \xi_0)$  the solution of (2.1) with the initial data (3.1). Set

$$\xi^*(\xi_0) = \sup\{\xi > \xi_0 : v'(\xi; \xi_0) > 0\}.$$

For any fixed  $\xi_{01} < \xi_{02} < 0$ , lemma 2.10 implies that

$$v(\xi; \xi_{01}) > v(\xi; \xi_{02}), \quad \xi > \xi_{02}.$$

Thus,

$$v(\xi^*(\xi_{01}); \xi_{01}) > v(\xi^*(\xi_{02}); \xi_{02}),$$

namely,  $v(\xi^*(\xi_0); \xi_0)$  is strictly decreasing in  $\xi_0 \in (-\infty, 0)$ . Therefore,

$$\lim_{\xi_0 \rightarrow 0^-} v(\xi^*(\xi_0); \xi_0) = 0, \quad \lim_{\xi_0 \rightarrow -\infty} v(\xi^*(\xi_0); \xi_0) = +\infty.$$

By the continuous dependence of the solutions on the initial data, we obtain the existence. The uniqueness follows from the strictly monotonicity property of  $v(\xi^*(\xi_0); \xi_0)$  and corollary 2.12.  $\square$

Now we consider the case that may contain degeneracy, that is,  $v_- = p(0)$  and  $v_+ \in R_+(p)$ .

PROPOSITION 3.3. Assume that  $v_- = p(0)$  and  $v_+ \in R_+(p)$ . There then exists at least one solution of the problem (2.1), (2.3).

*Proof.* We denote by  $v_n(\xi)$  the solution of (2.1) with the boundary value

$$v(-\infty) = v_- + \frac{1}{n}, \quad v(+\infty) = v_+,$$

where  $n$  is a positive integer. By proposition 3.2 and lemma 2.10,  $v_n$  exists and

$$0 < \xi_n^* \leq \xi_{n+1}^*, \quad v_- \leq v_{n+1}(\xi) \leq v_n(\xi) \leq v_+, \quad \xi \in (-\infty, +\infty), \quad n = 1, 2, \dots,$$

where  $\xi_n^* = \sup\{\xi \in (-\infty, +\infty) : v'_n(\xi) > 0\}$ . Let

$$\xi^* = \lim_{n \rightarrow \infty} \xi_n^*, \quad v(\xi) = \lim_{n \rightarrow \infty} v_n(\xi), \quad \xi \in (-\infty, +\infty).$$

Integrating the equation for  $v_n$  from 0 to  $\xi_n^*$  gives

$$v_n'^{\lambda-1} \Big|_0^{\xi_n^*} = -\frac{1}{\lambda} \int_0^{\xi_n^*} \xi(q(v_n))' d\xi = \frac{1}{\lambda} \int_0^{\xi_n^*} q(v_n) d\xi - \frac{1}{\lambda} \xi q(v_n) \Big|_0^{\xi_n^*}.$$

Thus,

$$v_n'^{\lambda-1}(0) + \frac{1}{\lambda} \int_0^{\xi_n^*} q(v_n) d\xi = \frac{1}{\lambda} \xi_n^* q(v_+) \geq \frac{1}{\lambda} \xi_1^* q(v_+) > 0, \quad n = 1, 2, \dots,$$

which implies that  $v \not\equiv v_-$  in  $(-\infty, +\infty)$ . It is standard to show that  $v$  is a solution of the problem (2.1), (2.3) and this completes the proof.  $\square$

PROPOSITION 3.4. Assume that

$$\int_{v_-}^{v_-+1} q^{-1/(\lambda-1)}(s) ds = +\infty$$

and that  $v$  is a solution to the problem (2.1), (2.3) with  $v_- = p(0)$  and  $v_+ \in R_+(p)$ . Then

$$\int_{-\infty}^0 q(v(s)) ds < +\infty, \quad \lim_{\xi \rightarrow -\infty} \xi q(v(\xi)) = 0.$$

*Proof.* From lemma 2.11, we have  $\xi_* = -\infty$ , where

$$\xi_* = \inf\{\xi \in (-\infty, +\infty) : v(\xi) > v_-\}.$$

Integrating (2.1) and (2.2) from  $-\infty$  to 0 yields

$$v'^{\lambda-1}(0) = -\frac{1}{\lambda} \int_{-\infty}^0 s(q(v(s)))' ds, \quad v'^{\lambda-2}(0) = -\frac{\lambda-2}{\lambda(\lambda-1)} \int_{-\infty}^0 sq'(v(s)) ds. \quad (3.2)$$

Due to

$$\int_{v_-}^{v_-+1} q^{-1/(\lambda-1)}(s) ds = +\infty$$

and the monotonicity property of  $q'(s)$ ,  $q(v_-) = 0$  and  $q'(s)$  is increasing. Moreover, for any  $s \in (-\infty, -1]$ ,

$$|s|q(v(s)) = |s|(q(v(s)) - q(v_-)) \leq |s|q'(v(s))(v(s) - v_-) \leq -sq'(v(s))(v_+ - v_-).$$

From (3.2), we get

$$\int_{-\infty}^0 |s|q(v(s)) ds < +\infty, \quad \int_{-\infty}^0 q(v(s)) ds < +\infty$$

and

$$v'^{\lambda-1}(0) = \frac{1}{\lambda} \lim_{\xi \rightarrow -\infty} \xi q(v(\xi)) + \frac{1}{\lambda} \int_{-\infty}^0 q(v(s)) ds.$$

Thus,  $\lim_{\xi \rightarrow -\infty} \xi q(v(\xi))$  exists and the limit is zero by

$$\int_{-\infty}^0 |s|q(v(s)) ds < +\infty.$$

□

PROPOSITION 3.5. The problem (2.1), (2.3) admits at most one solution.

*Proof.* Assume that  $v_1$  and  $v_2$  are two solutions to the problem (2.1), (2.3). From lemmas 2.9 and 2.10, we may assume that

$$v_1(\xi) \geq v_2(\xi), \quad \xi \in (-\infty, +\infty). \quad (3.3)$$

For any  $\xi_1 < 0 < \xi_2$ , integrating (2.1) from  $\xi_1$  to  $\xi_2$  gives

$$v_i'^{\lambda-1}|_{\xi_1}^{\xi_2} = -\frac{1}{\lambda} \int_{\xi_1}^{\xi_2} \xi(q(v_i))' d\xi = -\frac{1}{\lambda} \xi q(v_i) \Big|_{\xi_1}^{\xi_2} + \frac{1}{\lambda} \int_{\xi_1}^{\xi_2} q(v_i) d\xi, \quad i = 1, 2. \quad (3.4)$$

Based on (3.4), we have the following two cases.

(i) If  $\int_0^1 q^{-1/(\lambda-1)}(s) ds < +\infty$ , then from lemmas 2.11, 2.9 and 2.10, there exist  $-\infty < \xi_* < 0 < \xi^* < +\infty$  such that

$$v_1(\xi_*) = v_2(\xi_*) = v_-, \quad v_1(\xi^*) = v_2(\xi^*) = v_+$$

and

$$v'_1(\xi_*) = v'_2(\xi_*) = v'_1(\xi^*) = v'_2(\xi^*) = 0.$$

Choosing  $\xi_1 = \xi_*$  and  $\xi_2 = \xi^*$  in (3.4) yields

$$\int_{\xi_*}^{\xi^*} q(v_1) d\xi = \int_{\xi_*}^{\xi^*} q(v_2) d\xi.$$

Due to the monotonicity of  $q(s)$ , (3.3) leads to  $v_1 \equiv v_2$ .

(ii) If  $\int_0^1 q^{-1/(\lambda-1)}(s) ds = +\infty$ , then from lemmas 2.11, 2.9 and 2.10 and proposition 3.4, there exists  $0 < \xi^* < +\infty$  such that

$$v_1(\xi^*) = v_2(\xi^*) = v_+, \quad v'_1(\xi^*) = v'_2(\xi^*) = 0,$$

and

$$\lim_{\xi \rightarrow -\infty} \xi q(v_1(\xi)) = \lim_{\xi \rightarrow -\infty} \xi q(v_2(\xi)) = 0.$$

By choosing  $\xi_2 = \xi^*$  in (3.4) and letting  $\xi_1 \rightarrow -\infty$ , we get

$$\int_{-\infty}^{\xi^*} q(v_1) d\xi = \int_{-\infty}^{\xi^*} q(v_2) d\xi.$$

Due to the monotonicity of  $q(s)$ , (3.3) and proposition 3.4 imply that  $v_1 \equiv v_2$ . It then completes the proof. □

Since the problem (1.5), (1.6) is equivalent to the problem (2.1), (2.3), the case when  $0 < w_- < w_+$  in theorems 2.1 and 2.2 follows from proposition 3.2, lemmas 2.9, 2.11 and corollary 2.12 directly. The case when  $0 = w_- < w_+$  in theorems 2.1 and 2.3 then follows from propositions 3.3–3.5 and lemmas 2.9 and 2.11 directly. Therefore, we have completed the proofs for theorems 2.1–2.3.

Finally, we prove theorem 2.6, which can be restated as follows.

**PROPOSITION 3.6.** *Let  $v_1$  and  $v_2$  be the solutions of (2.1) with the boundary value*

$$v_1(-\infty) = v_-, \quad v_1(+\infty) = v_+,$$

and let

$$q(v_2(-\infty)) = q(v_-) + \delta, \quad q(v_2(+\infty)) = q(v_+) + \delta,$$

respectively, where  $v_{\pm} \in R(p)$  and  $q(v_-) < q(v_-) + \delta < q(v_+)$ . Then we have the following two cases.

(i) *If  $q'(s)$  is a decreasing function, then*

$$0 \leq q(v_2(\xi)) - q(v_1(\xi)) \leq (1 + q'(v_1(0))p'(q(v_+) + \delta))\delta, \quad \xi \geq 0. \quad (3.5)$$

(ii) If  $q'(s)$  is an increasing function, then

$$0 \leq q(v_2(\xi)) - q(v_1(\xi)) \leq (1 + q'(v_2(0))p'(q(v_-)))\delta, \quad \xi \leq 0. \tag{3.6}$$

*Proof.* Denote by  $v_0$  the solution of (2.1) with the boundary value

$$q(v_0(-\infty)) = q(v_-) + \delta, \quad v_0(+\infty) = v_+.$$

Then, by lemma 2.10, we have  $v_1(0) < v_0(0) < v_2(0)$  and

$$v_1(\xi) \leq v_0(\xi) \leq v_2(\xi), \quad \xi \in (-\infty, +\infty).$$

Now we discuss the two cases separately.

(i) If  $q'(s)$  is a decreasing function, then we will show that

$$q(v_0(\xi)) - q(v_1(\xi)) \leq \delta, \quad \xi \geq 0 \tag{3.7}$$

and

$$v_2'(\xi) - v_0'(\xi) \geq 0, \quad \xi \in (-\infty, +\infty). \tag{3.8}$$

In fact, from (3.8), we see that, for any  $\xi \geq 0$ ,

$$\begin{aligned} q(v_2(\xi)) - q(v_0(\xi)) &\leq q'(v_0(\xi))(v_2(\xi) - v_0(\xi)) \\ &\leq q'(v_0(\xi))(p(q(v_+) + \delta) - v_+) \\ &\leq q'(v_1(0))p'(q(v_+) + \delta)\delta. \end{aligned}$$

This, together with (3.7), implies (3.5).

By lemma 2.10, (3.8) holds and

$$v_1'(\xi) - v_0'(\xi) \geq 0, \quad \xi \geq 0. \tag{3.9}$$

Define

$$h_1(\xi) = q(v_0(\xi)) - q(v_1(\xi)), \quad \xi \in (-\infty, +\infty).$$

Since  $q'(s)$  is a decreasing function, from (3.9), we have

$$h_1(\xi) \leq h_1(0), \quad \xi \geq 0.$$

Now if (3.7) is not true, then

$$h_1(0) > \delta = h_1(-\infty).$$

Let

$$\xi_1 = \sup\{\xi < 0 : h_1(\xi) \leq h_1(0)\}.$$

Due to  $h_1'(0) < 0$  and  $h_1(0) > h_1(-\infty)$ ,  $\xi_1$  exists with  $\xi_1 < 0$ . Moreover,  $h_1'(\xi_1) \geq 0$ ,  $h_1(\xi_1) = h_1(0)$  and

$$h_1(\xi) > h_1(0), \quad \xi \in (\xi_1, 0).$$

Integrating (2.1) from  $\xi_1$  to 0 gives

$$v_i^{\lambda-1} \Big|_{\xi_1}^0 = -\frac{1}{\lambda} \int_{\xi_1}^0 \xi(q(v_i))' d\xi = -\frac{1}{\lambda} \xi q(v_i) \Big|_{\xi_1}^0 + \frac{1}{\lambda} \int_{\xi_1}^0 q(v_i) d\xi, \quad i = 0, 1.$$

Thus,

$$v_1^{\lambda-1}(\xi_1) - v_0^{\lambda-1}(\xi_1) = v_1^{\lambda-1}(0) - v_0^{\lambda-1}(0) + \frac{1}{\lambda}\xi_1 h_1(\xi_1) + \frac{1}{\lambda} \int_{\xi_1}^0 h_1(\xi) \, d\xi > 0.$$

This implies that  $v_1'(\xi_1) > v_0'(\xi_1)$ , which leads to  $h_1'(\xi_1) < 0$ . Hence, this contradicts  $h_1'(\xi_1) \geq 0$  so that (3.7) holds.

(ii) Similarly, if  $q'(s)$  is increasing, we will then show that

$$v_1'(\xi) - v_0'(\xi) \geq 0, \quad \xi \in (-\infty, +\infty) \tag{3.10}$$

and

$$q(v_2(\xi)) - q(v_0(\xi)) \leq \delta, \quad \xi \leq 0. \tag{3.11}$$

In fact, from (3.10), we see that, for any  $\xi \leq 0$ ,

$$\begin{aligned} q(v_0(\xi)) - q(v_1(\xi)) &\leq q'(v_0(\xi))(v_0(\xi) - v_1(\xi)) \\ &\leq q'(v_0(\xi))(p(q(v_-) + \delta) - v_-) \\ &\leq q'(v_2(0))p'(q(v_-))\delta. \end{aligned}$$

This, together with (3.11), implies (3.6).

By lemmas 2.10, 2.9, and (2.7), we achieve (3.10) and

$$v_2'(\xi) - v_0'(\xi) \geq 0, \quad \xi \leq 0. \tag{3.12}$$

Define

$$h_2(\xi) = q(v_2(\xi)) - q(v_0(\xi)), \quad \xi \in (-\infty, +\infty).$$

Since  $q'(s)$  is increasing, (3.12) leads to

$$h_2(\xi) \leq h_2(0), \quad \xi \leq 0.$$

Again, assume (3.11) is not true. Then

$$h_2(0) > \delta = h_2(+\infty).$$

Let

$$\xi_2 = \inf\{\xi > 0 : h_2(\xi) \geq h_2(0)\}.$$

As  $h_2'(0) > 0$  and  $h_2(0) > h_2(+\infty)$ , we have  $\xi_2 > 0$  satisfying  $h_2'(\xi_2) \leq 0$ ,  $h_2(\xi_2) = h_2(0)$  and

$$h_2(\xi) > h_2(0), \quad \xi \in (0, \xi_2).$$

Integrating (2.1) from 0 to  $\xi_2$  yields

$$v_i^{\lambda-1}|_0^{\xi_2} = -\frac{1}{\lambda} \int_0^{\xi_2} \xi(q(v_i))' \, d\xi = -\frac{1}{\lambda} \xi q(v_i) \Big|_0^{\xi_2} + \frac{1}{\lambda} \int_0^{\xi_2} q(v_i) \, d\xi, \quad i = 0, 2.$$

Hence,

$$v_2^{\lambda-1}(\xi_2) - v_0^{\lambda-1}(\xi_2) = v_2^{\lambda-1}(0) - v_0^{\lambda-1}(0) - \frac{1}{\lambda}\xi_2 h_2(\xi_2) + \frac{1}{\lambda} \int_{\xi_2}^0 h_2(\xi) \, d\xi > 0.$$

This implies that  $v_2'(\xi_2) > v_0'(\xi_2)$ , which leads to  $h_2'(\xi_2) > 0$ . Thus, it contradicts  $h_2'(\xi_2) \leq 0$  so that (3.11) holds. The proof of the proposition is then complete.  $\square$



**4. Asymptotic behaviour of solutions**

Finally, in this section, we will investigate the asymptotic behaviour of solutions to the Cauchy problem (1.1), (1.7) based on the properties of the self-similar solutions proved in the previous sections.

Similar to the non-Newtonian filtration equation or non-Newtonian polytropic filtration equation (see, for example, [11, 27]), the following existence theorem and the comparison principle hold. We state them here without proof for brevity.

**THEOREM 4.1** (existence theorem). *Assume that  $0 \leq u_0(x) \in L^\infty(-\infty, +\infty)$ , and that  $u_0(x)$  is a monotone function. Then the Cauchy problem (1.1), (1.7) admits a unique weak solution.*

**THEOREM 4.2** (comparison principle). *Assume that  $u_1$  and  $u_2$  are two weak solutions to (1.1) satisfying*

$$0 \leq u_1(x, 0) \leq u_2(x, 0), \quad x \in (-\infty, +\infty),$$

*with  $u_2(x, 0) \in L^\infty(-\infty, +\infty)$ , and  $u_{01}(x)$  and  $u_{02}(x)$  being monotone. Then*

$$u_1(x, t) \leq u_2(x, t), \quad x \in (-\infty, +\infty), \quad t > 0.$$

The asymptotic behaviour of solutions to the Cauchy problem (1.1), (1.7) is given by the following two theorems.

**THEOREM 4.3.** *Assume that  $0 \leq u_0(x) \in L^\infty(-\infty, +\infty)$ , and that  $u_0(x)$  is a monotone function. Let  $u(x, t)$  be the solution of the Cauchy problem (1.1), (1.7). Then, for any  $l > 0$ ,*

$$\lim_{t \rightarrow +\infty} \sup_{-l < x < l} |u(x, t) - w(xt^{-1/\lambda})| = 0, \tag{4.1}$$

*where  $w$  is the solution to the infinite two-point boundary-value problem (1.5), (1.6) with*

$$w_- = \lim_{x \rightarrow -\infty} u_0(x), \quad w_+ = \lim_{x \rightarrow +\infty} u_0(x).$$

*Proof.* Without loss of generality, we may assume that  $u_0$  is increasing and that  $0 \leq w_- < w_+$ . For any  $0 < \varepsilon < w_+ - w_-$ , there exists  $L > l$  such that

$$u_0(-L) < w_- + \varepsilon, \quad u_0(L) > w_+ - \varepsilon.$$

Let  $w_1$  and  $w_2$  be the solutions of (1.5) with the boundary conditions

$$w_1(-\infty) = w_-, \quad w_1(+\infty) = w_+ - \varepsilon,$$

and

$$w_2(-\infty) = w_- + \varepsilon, \quad w_2(+\infty) = w_+.$$

Then, from lemma 2.10,

$$w_1(\xi) \leq w(\xi) \leq w_2(\xi), \quad \xi \in (-\infty, +\infty). \tag{4.2}$$

Define

$$u_1(x, t) = w_1((x-L)t^{-1/\lambda}), \quad u_2(x, t) = w_2((x+L)t^{-1/\lambda}), \quad x \in (-\infty, +\infty), \quad t > 0.$$

Then,  $u_1$  and  $u_2$  are the two solutions of (1.1) with the following initial data, respectively,

$$u_1(x, 0) = \begin{cases} w_-, & x < L, \\ w_+ - \varepsilon, & x > L, \end{cases} \quad u_2(x, 0) = \begin{cases} w_- + \varepsilon, & x < -L, \\ w_+, & x > -L. \end{cases}$$

By the comparison principle,

$$u_1(x, t) \leq u(x, t) \leq u_2(x, t), \quad x \in (-\infty, +\infty), \quad t > 0. \quad (4.3)$$

We then need to discuss the following two cases.

(i) If  $p'(s)$  is an increasing function, then

$$\begin{aligned} u_2(x, t) - u_1(x, t) &= w_2((x+L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda}) \\ &\leq |w_2((x+L)t^{-1/\lambda}) - w_1((x+L)t^{-1/\lambda})| \\ &\quad + |w_1((x+L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda})|. \end{aligned}$$

By theorem 2.6,

$$|w_2((x+L)t^{-1/\lambda}) - w_1((x+L)t^{-1/\lambda})| \leq C_1\varepsilon, \quad -l < x < l, \quad t > 0,$$

and, by the mean value theorem,

$$|w_1((x+L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda})| \leq 2w_1'(0)Lt^{-1/\lambda}, \quad x \in (-\infty, +\infty), \quad t > 0.$$

(ii) If  $p'(s)$  is a decreasing function, then

$$\begin{aligned} u_2(x, t) - u_1(x, t) &= w_2((x+L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda}) \\ &\leq |w_2((x+L)t^{-1/\lambda}) - w_2((x-L)t^{-1/\lambda})| \\ &\quad + |w_2((x-L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda})|. \end{aligned}$$

By theorem 2.6,

$$|w_2((x-L)t^{-1/\lambda}) - w_1((x-L)t^{-1/\lambda})| \leq C_2\varepsilon, \quad -l < x < l, \quad t > 0.$$

On the other hand, by the mean value theorem,

$$|w_2((x+L)t^{-1/\lambda}) - w_2((x-L)t^{-1/\lambda})| \leq 2w_2'(0)Lt^{-1/\lambda}, \quad x \in (-\infty, +\infty), \quad t > 0.$$

In summary, we have

$$u_2(x, t) - u_1(x, t) \leq C(\varepsilon + Lt^{-1/\lambda}), \quad -l < x < l, \quad t > 0,$$

where  $C > 0$  is a constant independent of  $\varepsilon$  and  $L$ . Therefore, (4.2) and (4.3) imply that

$$|u(x, t) - w(xt^{-1/\lambda})| \leq u_2(x, t) - u_1(x, t) \leq C(\varepsilon + Lt^{-1/\lambda}), \quad -l < x < l, \quad t > 0,$$

which leads to (4.1) and completes the proof.  $\square$

The following theorem shows that if we know the spatial decay rate of the initial data, then we will have the convergence rate of the solution to the corresponding self-similar solution.

**THEOREM 4.4.** Assume that  $0 \leq u_0(x) \in L^\infty(-\infty, +\infty)$ , that  $u_0(x)$  is a monotone function and that

$$\limsup_{x \rightarrow -\infty} |x|^\beta |u_0(x) - w_-| < +\infty, \quad \limsup_{x \rightarrow +\infty} |x|^\beta |u_0(x) - w_+| < +\infty, \quad (4.4)$$

with  $\beta > 0$  being a constant. Here,

$$w_- = \lim_{x \rightarrow -\infty} u_0(x), \quad w_+ = \lim_{x \rightarrow +\infty} u_0(x).$$

Let  $u(x, t)$  be the solution of the Cauchy problem (1.1), (1.7). Then, for any  $l > 0$ ,

$$\sup_{-L(t) < x < L(t)} |u(x, t) - w(xt^{-1/\lambda})| \leq C(l + l^{-\beta})t^{-\beta/((1+\beta)\lambda)}, \quad t > 0, \quad (4.5)$$

where

$$L(t) = lt^{1/((1+\beta)\lambda)}, \quad t > 0,$$

and  $w$  is the solution of the infinite two-point boundary-value problem (1.5), (1.6), while  $0 < C < +\infty$  is a constant independent of  $t$  and  $l$ .

*Proof.* Without loss of generality, we may assume that  $u_0$  is increasing and that  $0 \leq w_- < w_+$ . From (4.4), there exist  $L_0 > 0$  and  $C_0 > 0$  such that  $2C_0L_0^{-\beta} < w_+ - w_-$  and

$$\begin{aligned} w_- \leq u_0(x) \leq w_- + C_0|x|^{-\beta}, & \quad x \leq -L_0, \\ w_+ - C_0|x|^{-\beta} \leq u_0(x) \leq w_+, & \quad x \geq L_0. \end{aligned}$$

Let  $s_0 = (L_0/l)^{(1+\beta)\lambda}$ . Then, for any fixed  $s \geq s_0$ , we have

$$\begin{aligned} w_- \leq u_0(x) \leq w_- + C_0L^{-\beta}(s), & \quad x \leq -L(s), \\ w_+ - C_0L^{-\beta}(s) \leq u_0(x) \leq w_+, & \quad x \geq L(s). \end{aligned}$$

Let  $w_1$  and  $w_2$  be the solutions of (1.5) with the boundary data

$$w_1(-\infty) = w_-, \quad w_1(+\infty) = w_+ - L^{-\beta}(s)$$

and

$$w_2(-\infty) = w_- + L^{-\beta}(s), \quad w_2(+\infty) = w_+,$$

respectively. Then, from lemma 2.10,

$$w_1(\xi) \leq w(\xi) \leq w_2(\xi), \quad \xi \in (-\infty, +\infty). \quad (4.6)$$

Define

$$\begin{aligned} u_1(x, t) &= w_1((x - L(s))t^{-1/\lambda}), \quad x \in (-\infty, +\infty), \quad t > 0, \\ u_2(x, t) &= w_2((x + L(s))t^{-1/\lambda}), \quad x \in (-\infty, +\infty), \quad t > 0. \end{aligned}$$

Then,  $u_1$  and  $u_2$  are the solutions of (1.1) with the initial values

$$u_1(x, 0) = \begin{cases} w_-, & x < L(s), \\ w_+ - L^{-\beta}(s), & x > L(s), \end{cases} \quad u_2(x, 0) = \begin{cases} w_- + L^{-\beta}(s), & x < -L(s), \\ w_+, & x > -L(s), \end{cases}$$

respectively. By the comparison principle,

$$u_1(x, t) \leq u(x, t) \leq u_2(x, t), \quad x \in (-\infty, +\infty), \quad t > 0. \quad (4.7)$$

Again, we need to discuss the following two cases.

(i) If  $p'$  is increasing, then

$$\begin{aligned} u_2(x, s) - u_1(x, s) &= w_2((x + L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda}) \\ &\leq |w_2((x + L(s))s^{-1/\lambda}) - w_1((x + L(s))s^{-1/\lambda})| \\ &\quad + |w_1((x + L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda})|. \end{aligned}$$

Theorem 2.6 implies that

$$\begin{aligned} |w_2((x + L(s))s^{-1/\lambda}) - w_1((x + L(s))s^{-1/\lambda})| \\ \leq C_1 L^{-\beta}(s) = C_1 l^{-\beta} s^{-\beta/((1+\beta)\lambda)}, \quad -L(s) < x < L(s). \end{aligned}$$

On the other hand, the mean value theorem gives

$$\begin{aligned} |w_1((x + L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda})| \\ \leq 2w_1'(0)L(s)s^{-1/\lambda} = 2w_1'(0)l s^{-\beta/((1+\beta)\lambda)}, \quad x \in (-\infty, +\infty). \end{aligned}$$

(ii) If  $p'$  is decreasing, then

$$\begin{aligned} u_2(x, s) - u_1(x, s) &= w_2((x + L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda}) \\ &\leq |w_2((x + L(s))s^{-1/\lambda}) - w_2((x - L(s))s^{-1/\lambda})| \\ &\quad + |w_2((x - L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda})|. \end{aligned}$$

Theorem 2.6 yields

$$\begin{aligned} |w_2((x - L(s))s^{-1/\lambda}) - w_1((x - L(s))s^{-1/\lambda})| \\ \leq C_2 L^{-\beta}(s) = C_2 l^{-\beta} s^{-\beta/((1+\beta)\lambda)}, \quad -L(s) < x < L(s), \end{aligned}$$

and the mean value theorem leads to

$$\begin{aligned} |w_2((x + L(s))s^{-1/\lambda}) - w_2((x - L(s))s^{-1/\lambda})| \\ \leq 2w_2'(0)L(s)s^{-1/\lambda} = 2w_2'(0)l s^{-\beta/((1+\beta)\lambda)}, \quad x \in (-\infty, +\infty). \end{aligned}$$

We combine these two cases to obtain

$$u_2(x, s) - u_1(x, s) \leq C(l + l^{-\beta})s^{-\beta/((1+\beta)\lambda)}, \quad -L(s) < x < L(s),$$

where  $C > 0$  is a constant independent of  $s$  and  $l$ . By (4.6) and (4.7), we then have

$$\begin{aligned} |u(x, s) - w(xs^{-1/\lambda})| &\leq u_2(x, s) - u_1(x, s) \\ &\leq C(l + l^{-\beta})s^{-\beta/((1+\beta)\lambda)}, \quad -L(s) < x < L(s), \quad s > s_0, \end{aligned}$$

which implies (4.5) and completes the proof.  $\square$

## Acknowledgments

The research of C.P.W. and J.X.Y. was supported by the National Natural Science Foundation of China, the 985 Program of Jilin University, and Key Laboratory of Symbolic Computation and Knowledge Engineering of Ministry of Education. The research of T.Y. was supported by Strategic Research Grant no. 7001608 of City University of Hong Kong and the National Natural Science Foundation of China under Contract no. 10329101.

## References

- 1 W. F. Ames. *Nonlinear partial differential equations in engineering. II.* (Academic, 1972).
- 2 R. Ana and L. V. Juan. Obstructions to existence in fast-diffusion equations. *J. Diff. Eqns* **184** (2002), 348–385.
- 3 D. G. Aronson, L. A. Caffarelli and S. Kamin. How an initially stationary interface begins to move in porous medium flow. *SIAM J. Math. Analysis* **14** (1983), 639–658.
- 4 F. V. Atkinson and L. A. Peletier. Similarity profiles of flows through porous media. *Arch. Ration. Mech. Analysis* **42** (1971), 369–379.
- 5 F. V. Atkinson and L. A. Peletier. Similarity solutions of the nonlinear diffusion equation. *Arch. Ration. Mech. Analysis* **54** (1974), 373–392.
- 6 J. R. Burgan, A. Munier, M. R. Feix and E. Fijalkow. Homology and the nonlinear heat diffusion equation. *SIAM J. Appl. Math.* **44** (1984), 11–18.
- 7 L. A. Caffarelli and A. Friedman. Regularity of the free boundary of a gas flow in an  $n$ -dimensional porous medium. *Indiana Univ. Math. J.* **29** (1980), 361–389.
- 8 P. A. Clarkson and E. L. Mansfield. Symmetry reductions and exact solutions of a class of nonlinear heat equations. *Physica D* **70** (1993), 250–288.
- 9 J. Crank. *The mathematics of diffusion* (Oxford University Press, 1975).
- 10 M. Del Pino and J. Dolbeault. Nonlinear diffusions and optimal constants in Sobolev type inequalities: asymptotic behaviour of equations involving the  $p$ -Laplacian. *C. R. Acad. Sci. Paris I* **334** (2002), 365–370.
- 11 E. DiBenedetto. *Degenerate parabolic equations* (Springer, 1993).
- 12 C. Ebmeyer and J. M. Urbano. Regularity in Sobolev spaces for doubly nonlinear parabolic equations. *J. Diff. Eqns* **187** (2003), 375–390.
- 13 J. R. Esteban and J. L. Vázquez. Homogeneous diffusion in  $\mathbb{R}$  with power-like nonlinear diffusivity. *Arch. Ration. Mech. Analysis* **103** (1988), 39–80.
- 14 P. G. Estévez, C. Z. Qu and S. L. Zhang. Separation of variables of a generalized porous medium equation with nonlinear source. *J. Math. Analysis Applic.* **275** (2002), 44–59.
- 15 V. A. Galaktionov. Invariant subspaces and new explicit solutions to evolution equations with quadratic nonlinearities. *Proc. R. Soc. Edinb. A* **125** (1995), 225–246.
- 16 A. S. Kalashnikov. Cauchy problem for second-order degenerate parabolic equations with nonpower nonlinearities. *J. Sov. Math.* **33** (1986), 1014–1025.
- 17 A. S. Kalashnikov. Some problems of the qualitative theory of nonlinear degenerate second-order parabolic equations. *Russ. Math. Surv.* **42** (1987), 169–222.
- 18 S. Kamin and J. L. Vázquez. Fundamental solutions and asymptotic behaviour for the  $p$ -Laplacian equation. *Rev. Mat. Iber.* **4** (1988), 339–354.
- 19 J. R. King. Some nonlocal transformations between nonlinear diffusion equations. *J. Phys. A* **23** (1990), 5441–5464.
- 20 J. D. Murray. *Mathematical biology* (Springer, 1989).
- 21 C. Z. Qu. Classification and reduction of some systems of quasilinear partial differential equations. *Nonlin. Analysis* **42** (2000), 301–327.
- 22 E. A. Saied and R. A. El-Rahaman. On the porous medium equation with modified Fourier's law: symmetries and integrability. *J. Phys. Soc. Jpn* **68** (1999), 360–368.
- 23 A. A. Samarskii, V. A. Galaktionov, S. P. Kurdyumov and A. P. Mikhailov. *Peaking modes in problems for quasilinear parabolic equations* (Moscow: Nauka, 1987).
- 24 S. Takeuchi and Y. Yamada. Asymptotic properties of a reaction–diffusion equation with degenerate  $p$ -Laplacian. *Nonlin. Analysis* **42** (2000), 41–61.

- 25 C. J. van Duijn and L. A. Peletier. A class of similarity solutions of the nonlinear diffusion equation. *Nonlin. Analysis* **1** (1977), 223–233.
- 26 C. P. Wang, T. Yang and J. X. Yin. A class of self-similar solutions to a singular and degenerate diffusion equation. *Nonlin. Analysis* **60** (2005), 775–769.
- 27 Z. Wu, J. Zhao, J. Yin and H. Li. *Nonlinear diffusion equations* (World Scientific, 2001).

(Issued 8 June 2007)